
 

HARJUTUSÜLESANDED Lk. 16 

 

Ülesanne 2 

Arvuta. 

 

a) (-7)² = 49 

b) -25  = -32 

c) -(-3)4  = -81 

d) (-3·5)² = (-15)² = 225 
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f) (3²)³ = 36 = 729 

g) 156 : 154  = 15² = 225 
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k) 27·3-4 - 0,2·0,3-1 = 
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l) 10-5 : 10-8 =103 = 1000 

m) 5 · 69 · 6-7 =5 62 = 180 
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Ülesanne 3 

Vastused. 

a) –24d13 ;b) c3m ;c) 0,04m2 -2m3 +25m4 ;d) 24;e) 3m4 ;f) 
2𝑞5

𝑝4
;g) ; h) 

 i)  

 

Ülesanne 6 

Kirjuta kasutades 10-astmeid standardkujul. 

a) 12 m = 1210-3 km = 1,2 10-2 km 

b) 3 l = 3 106 mm³ 

c) 2,4 m² = 2,4 104 cm² 

 

Ülesanne 7 

 Kirjuta arvud standardkujul 

a) 6 037 = 6,037 103 

b) 0,000 670 4= 6,704  10-4 

c) 42 000 = 4,2  104 

d) 0,000 070 5 = 7,05  10-5 

e) 102 000 000 000 000 = 1,02  1014 

f) 0,000 000 000 045= 4,5  10-11 

Ülesanne 8 

Esita arvud ilma 10 astmeteta 

a) 6,8·104 = 68000 

b) 0,017·10-2 = 0,00017 

c) 0,000 079·104 = 0,79 

d) 15·10-6 = 0,000015 

 

 


